E9[m (20245%£7H68H=EM) p 1
BT e 52 BEe: s B

x D 3 REH f(x) =27+ 3kx® — kx—1 DBARMEEB/MES & 72780 & 5 2EE £ DIED
#HHEZRD &,

1

#RE —§§k§0
f(x) =3x%+6kx—F

f(x) PRMEZ & 720N =D DR, /(o) ITRBOEMAN RN L, T42bb,
2RARER f/(x) =0 NEEFREZ 1 DETEONFLIIERREL2E /220 THD,
£2T, flx)=0D¥[HIR%E D 5L, flx) DBEEEZRNZODRMEIZD<0
D
4

IZT =(3k)?—3-(—k) =3k3BE+1)<0 XV

£oT, KDD kDEDHFHIT  —

IA

k=<0

W

BT AER 22— 22" —k=013B L2 3 ODEHEELOL VD, ZDLE, kD
&) D HIEDHR & KD &,

32
2 2 S

2 —2x2— k=005 x3-24°=F
flo)=x3=2x2BL L f(x) =3x2—4x=x(3x—4)

x see O see %
s +lol=1 o [+
Fo | Alo| N =22 4
27

FRER 222402 —k=0DERB 3 OOEHEZED
SR, y=f(x) DTS T LER y=k B EEHE

SELOT L THD, LEAN>T — 2 <po

27
ROTERES, EEAERDE.
1) S11(4x3—x2—|—5x+1)dx 2 Sz|x2—1|dx

72 () % @ 2
. 1 1 1 4

1) <—5Lzb>=§ 1<4x3+5x>dx+g 1<—x2+1>dx:o+2g0<_x2+1>dx:§

2) 0<x<1DeXx |[22—1=—(x*=1), 1=x=2Dr X |x>—1=x2—1

XoT (’—:T-Eﬁ)zg {—(x2— 1)}dx+gj(x2— 1)dx

1
0

R NI




9@ (20245£7H6B%EME) p 2

BET R+ me:ur #m5He: b iR
2ODMYIE y=2>—3x4+2, y=—-222—x4+3 CHEIN -KFOEHEEZ KD X,

= o2

27

x°—3x+4+2=—-2x°—x+3 2R &, xz—l, 1

3
KD HHEMIE, HDORNPS

Sl (=242 —x43)—(x2—=3x+2)}dx

=Sl

1 -
3

W=

1
(—3x2+2x+1)dx=|:—x3+x2+x]

wl—

d ;
:(_13+12+1)_{_<_l>3+<_l>2+<_l>}_2 y=—2x2—x+3Y/

3 3 3)] 27

1 1
S {(—2x2—x+3)—(x2—3x+2)}dx=g (=3x%4+2x+1)dx

-1 —
3

(oo emar— 332

ROERETT BB [ () LR a OEERD X
Sxf(t)dt:x2+2x—3

wl—

flx)=2x4+2;a=-3, 1
EROMLDEEE x THH T L flx)=2x+2
/2, E2onEERNTr=a B, EBIZ0IZRENS  0=a’+2a—3
IhefiEt a=-3, 1 ULENoT fx)=2x+2;a=-3, 1
[6] ROFAERZ TR /(x) 2RD L.

f(x):xz—gzxf(t)dt+2g fhdt

1
0

4 2
7 2 — y2_ = il
BE) f(x)=2x 3x—|—3

Szf(t)dt, S;f(t)dtliﬁ*iﬂl’é%éfﬁfp, Szf(t)dt:a, S(l)f(t)dtzb ey

0
f(x)=x%—ax+2b

2 2 l(3 a 2 8
&oT S f(lf)dt:g <¢Z—at+2b>dt={———tz+2btJ =——2a+4b
0 0 3 2 o 3
UL7=m3>T %—2a+4b=a koT 90 —12H =8 ------ D
1 1 t3 a 1 1 a
- = 2_ =|— —— 2 = — —
¥/ Sof(t)dt—go(t at+2b)dt {3 ot +2bt}0 T+ 2
U7=RoT %_%Jrzb:b koT 3a—6h=2 - ®




&9 (202457H68%ME) p 3

BET R+ me:ur #m5He: b RE
4 1 . , 4 2
@, ® %ﬁﬁb\’C a=§, b=§ bf:i)‘?f f(x):x —§x+§

MC:x*+y’+ax—3ay—5a—5=0122\T

1) a DMEIZBERERLS CIIEREEBL L ERL, TOESDEZEL KD L.

2) yHINCIZE->THUVEONEGBMADEIDR/MEZRKRD K. £/, TDOLEIDa
Dz RD &.

®mE 1) (-1,-2,2, -1 (2 a= —% nNex EE'i/N*E‘@

(1) alZo>WTEBET2L, C:(x2+y*—5)+a(x—3y—5)=0
Cl¥a DIEIZEBRRL 224+ 92 —5=0,2—3y—5=0 DX H&@5.
TS FEAREREL. By+5)+y*—5=0056 y=—1, -2 T,
EAIZ R —-1),(—1, -2
2 x=00Dk¥% y2—3ay—5a—5=0 ZOHFBRRAD2ODMEE y, 9, L TDL,

RADREI DFEFHE (y,— 31)°=(31+ ¥2)° — 4915, =(3a)* — 4(—5a —5)

2
:9a2+20a+20:9<a+%> +%

b1z, a=—1—9° @a%%d\rﬁ% L3,

=3l Z0THENE, DL |5y LEAZEY, Bz

2/=A(0, 0), B(5, 0) NODEEEEDELMN 2 : 3 TH DK P OHI 2 KD &,

I:F"[\J\<_4’ 0)7 E'ﬁf:xt60)|:q
R POREZREE (x, y) &5, ¥
P D 7= &M% AP:BP=2:3

_ 3
£oT 9AP?=4BP? AZ B

AP*=x"+y%, BP’=(x—5)+y" &RATHL ~10 AT ERE
Ix*+y%)=4{(x—5)"+ 7
BT LHE (x+4)°4+y2=62 --oonn @

W2IZ, &FeRATRIIA O EIZHD,
Bz, O LOERDORIR, FMEETHZT,
UZMoT, RODEIHIE  Hil (-4, 0, ¥E60DH

[9]2R 00, 0, A1, 0) ¥ x*+y*=9 L2EI<H Q L TTXS AOAQ DED P DH

iRk &,
1

AN <§, o>, BEA1OH, 2EL, 2£<—% o>, (% 0)%&%9




&9 (202457H68%kE) p 4

BT ®e:us mHs: wh) B
5 P OEEE (1, y), 5 QOBEE (s, ) LT3, y
QN xEHEIZHDL X, B OAQIF=ZAFIZIRS 3
BOMNS 0 e @ Q
QXM 2%+ y*=9 EIZH B0 5 ./Pl
sPHEP=9 e ) -3 o A J3 «
Pk AOAQ DEMTH ZH5 \/
oo Otlts 0404 ~
3 3

£-oT s=3x—1, t=3y
hze O, @IZRALT (Bx—17%4+(39%=9, 3y=0

2
T b <x—%> =1, g0 @
WZIZ, RPREEOQ LIZHD,

Wz, FEQ LoAEEDSIL, £EE2EAT,

1\2 e S 12
- __2 4
Ihze@<e = 3 3

LoT, ROBEHL, FONE (% o>, SEA 1 DFCd B,

27U, m(-%, o>, (% o)&&%m

BYIRRC: y=x2—x LEMRL i y=mx—1)—-11FE RS 2K A, BTXbH-o>TW3,
ZDLxE, #5 AB DR EOEEE KD X,

AR y=222—3x D x<0, 2<x DEH
1) y=x*—x & y=m(x—1)—105
xP—x=mx—1)—1
BHETLY 2 —m+1Dx+m+1=0--- D
AR C LTERR LIXERD 2 HTRh->TWE0S, OD¥HFIRE D eT5bL
D={—(m+1)P—4m+1)=(m+1)(m—3)>0
2T m<—1, 3<m
2) 2M A, BDxEEIE, 2RXABRXNODELRL 2ODEHE a, B THD,
7 ABOHR%Z P(x, y) 35L&, BEFEOBRNS

atp _m+l .
2 2 ®

72, PREMRLEDETHENS

X =




9@ (20245E7H6BH%EM) p 5

BTk @e:ae @5me: wh)

RE

QM5  m=2x—1 -

@IZRALTEET S L
y=2x"—3x

7z, 1) DHERLE @ 0o
2x—1< -1, 3<2x—1

W ZIZ ¥<0, 2<x
Lo T, KRDIEIIE
AR y=2x*—3x D x<0, 2<x DEH

>|2x—3
ﬁﬁ$%ﬁ+ij | p#ssEmE D L5,

y=x
1
2

i D 2 XRE &

()
2 = (x,

y)DVEIK D AEEI & X, 22+ DBR/IMEL ZD L XD (1, y) KD X,

fRE

()
(2)

W), BRmEad,
@@ 3)v%mm§
3

5 5
2x—3=0 9 bhb xgg DL x

1) 1]

y=2x—3

3

2] 22-3<0974bhbH <5 DEx

y=—(2x-3)
£oT y=—2x+3
W21z, Kb B MEEIEAE DRIDRHEER .
EEL, HEMEED,
2) x4+ 9=k (FL, k>0 &35E, Zhix
FULASR A, EENVE OFREERT,
FROMNSEM y=—2x+3 IZFEHFOHZTAT L,

B OH D5 L

X

y=2

mHIE 2By

—2x+3, y=%x DRRTHD

5)

6

N, ZODREREE @,

x2+y2=k

1<—g<—g THENMS, R HIIHEE D ADKRTH D,
6 3 6\2 /3\* 9
( A= —_ i“ﬂE — — = — é
C]:O ’ /\\\(57 5> X/J\1[E<5> +<5> 5 %(‘.’_ o




9@ (20245E7H6BH%EME) p 6

BTk @e:ae @5me: wh)

RE

tEFEREL, 1, yO1IRXRFER(t+D)r+y—1t—2=0
(2t+1)x+(t+3)y—4t—3=0 @ 2%2%, BELHETOMNERTEREZ ¢, @A
RITEMRE 0 LT5, tDENELTILX, L&V OREADEI %KD &,

F'H(x—2)2+< =2 REL, AL 2 &R,

3 2
_E>
LV DRADEZREE (X, V) &L,
=X, y=Y ITEILHERO, @ DETHENS
(t+1)X+Y—t—2=0,
(2t+1)X+(t+3)Y —4t—3=0

(X=1t+X+Y—-2=0
2X+Y—-4)t+X+3Y—-3=0

X+Y -2
X-1

ERAY.2))

Xx1 k%, @76
Ihe DIZRATR L

1 t=—

(2X+Y—4)-<—M>+X+3Y—3=O
X_1
BETLY X4+ YV?—dX—3V+5=0
3\¢ 5 :
VAR —9)2 X)) =2 ... :
bt (X 2)+<Y 2) > ® o p?

72U, X=1 72560 E0f(1, 1), (1, 2)1FK&<,

2] X=10Dt%, @5 Y=1
X=1, Y=1%2@®IZRATBL —t+1=0
IhzfEk t=1
WZIZ, H(, DI VDRETH5,
UED-T, 1] THRWZS A, DIk ROZEIHIZEEN5,
(JE) =1, 2302 ¢ OREIZRVERD,

72U, R(1, 2)2k&<.

> >~ v 2 3 2 5
MERS, ROZHBE I (x—2) +< __> =5

2 4

O C(0,2) T, +ENZETLIHZCEL, A0 28Y CIZETS 8L IZE
5B, MB(=90 %8 CIZETS xHLIIELIERDOREAE P LTS,

1) PoOEZFEZRD XK.

2) FONEIERIZH-T, JEHFAB, AP, BPIZETIHDFLDEZEEZ KD L.

75 (1) <3—523—56> 2) <—8, —%>

[BHELUTHY Y] r=2 LUTHREZzHZABATIEIL




E9[m (20245%£7H6H=EM) p 7
BT e 52 BEe: s B

EBRIDESICEELED S,
1) HCOAEBRIE 2’4+ (y—r)’=r?
BEif AP, BP OARBAE ZhEh,
RDEHITT 5.
ax—y—a=0, bx—y+96=0
Eff AP, BPIZLEIZTHCIZET M6,
C,» LER AP, BPIZEHL T, HYLEMHD
FEEEOAREHAWD L
| —7—al _ | —7+ 90| _,
Vvar+l b +1

£oT (a+7r?=rHa’+1), 90—r’=r{b>+1)

s 2r 187
WZIZ a= R b= 7,7
ZIZT, PpgbddL alp—1)=b(p+9) "5
27 +9><18r
p=a+9b= rP=1 9—r® _ 2r(9?—r})+9x18r(r*—1)
a—b 2r 18 27 (92 —7%) — 187 (r*—1)
r—1  92—y?
RP—7r249%r*—1)  (9°—1)r* 8072 8r?

T 229" —1)  9249-10/7 90—1072 9—¢?

_ 2 < 8% >_ 187 (r*—1) 18
r’—1\9—»*% C(2=1)09—7Y) 9—7?

2) KDZHEDHFLDEZER S(s, 1) & T2 L

7 (—t)=PC:PS=(q—7): (g—t)=p: (p—8) DO —t(qg—r)=7r(q—1)

r % 187
9—y? 9y 9
c]: T 27— t= @i‘: = = = ——
e (2r—qt=rq 2 187 79— 79 —0r "
9—r?
oy
b alh - _(r+b0p 7)9—r2 729 8
7=, —tp=r(p—s) N5 s=—— = . =— ><9_72_ 8

LERoT (s, t)=<—8, —3>

7
KDEHIZLUT, s=—8%2KkDBZILETXS., LFORNDLSIZD,E, T, U,
VEaEDD L

VE=BT+BE=BT+BO=2BO—-TO=18—TO=UD=UA+1
=TA+1=TO+2

WwzIlz TO=8




